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(Arithmetic Sequence - MCQ)

Which of the following is not an arithmetic sequence?

a) 2,8,18,32,50,.. b) 0.3,24,45,646, .. ¢ -15,2,559125,..

Which of the following sequence is an arithmetic progression?

2 832 128

a) 85,195,415, ———
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a)

04,1.6,64, 256, ..

Which of the foll
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a) 7,4]7,7]7,

102, 204, 308, 414, ...

Which of the following sequence is not an arithmetic progression?

a) -7.2,-7.7,-82,-87,.. b) 14,64,164,314,514,.. ¢ 11,33,55,77,99, ..

Which of the following sequence is an arithmetic progression?

a) 1541,6793119. b =2 4, 8

2,4 8 68, -55, 43, -32, ..
5 25 125 625 O 68,755,743, -3
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9.2,27.6,82.8, 2484, ..




